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,t;tpdhj;jhis Fwpg;Gfs; nfhLf;fg;gLk; tiu jpwf;ff;$lhJ gpupT mjpfhup $wpagpd; jpwf;fTk;. 

(Open Candidates) / (nghJ tpz;zg;gjhuu;fSf;FupaJ) 

 

 

  

  

TNUSRB – SI 2022 

FULL TEST - 02 

ehs; & Njjp : tpahof;fpoik> 16> [{d;> 2022      Time / fhyk; : 2:30 kzp 

Neuk; : fhiy 10.00 kzp Kjy; 12:30 kzp tiu          Total Marks / nkhj;j kjpg;ngz;fs; : 70 

Instructions – mwpTiufs; 

1. This question paper contain 70 questions in part A (General knowledge) and 30 questions in  part B (Psychology) related 
subjects. 
,t;tpdhj;jhspy; gFjp „m‟ nghJ mwptpy; 70 tpdhf;fSk; kw;Wk; gFjp „M‟ cstpay; rk;ke;jkhd ghlq;fspy; 30 
tpdhf;fSk; cs;sd. 

2. The type of question paer (A,B,C or D) should be shaded in the answer sheet using blue or black ball point pen. The 
answers sheet without shading the type of question paper will not be evaluated. 
,e;j tpdhj;jhspd; tifia (A,B,C or D)tpilj;jhspy; mjw;Fz;lhd ,lj;jpy; ePyk;. (m) fUg;G epw ghy; ghapd;l;Ngdhitf; 
nfhz;L vOjp gpd; gl;il jPl;lTk;. tpdhj;jhspd; tifia gl;il jPl;lhtpl;lhy;> me;j tpilj;jhs; kjpg;gplg;glkhl;lhJ. 

3. Write the Registration No. using blue or black ball point pen at the appropriate box in the answer sheet. 
tpilj;jhspy;> ePyk; (m) fUg;G epw ghy; ghapd;l; Nghditf; nfhz;L gjpT vz;iz mjw;Fupa fl;lj;jpy; vOjp> gpd; gl;il 
jPl;lTk;. 

4. Answer all the 140 questions should be shaded in the relevant circles using blue or black ball point pen. 
Answer all the 140 questions- 140 Nfs;tpfSf;Fk; tpilaspf;f Ntz;Lk;. 

5. Each question carries half a mark. xt;nthU Nfs;tpf;Fk; miu kjpg;ngz; toq;fg;gLk;. 
6. The answers to the question should be shaded in the relevant circles using blue or black ball point pen. 

tpilfis ePyk; (m) fUg;G epw ghy; ghapd;l; Ngdhitf; nfhz;L me;je;j tl;lq;fspy; gl;il jPl;lTk;. 
7. For each question only one answers is to be chosen and shaded. 

xU tpdhtpw;F xU tpilia kl;LNk gl;il jPl;lTk;. 
8. For wrong and improper shading, no marks will be given. 

jtwhf gl;il jPl;bdhNyh> mbj;jy; jpUj;jq;fs; nra;jhNyh me;j Nfs;tpf;F kjpg;ngz;fpilf;fhJ. 
9. Write the Registration No. in the question paper- gjpT vz;iz Nfs;tpj;jhspy; vOjTk;. 
10. Write the SI.No of the OMR answer sheet in the question paper at the appropriate place. 

OMRtpilj;jhspd; vz;iz Nfs;tpj;jhspy; vOjTk;. 
11. If there is any printing error in page No. in the question paper , the same should be brought to the notice of the invigilator 

immediately. 
ckJ tpdhj;jhspy; VNjDk; mr;Rg; gpioNa> gf;fq;fs; rupahf ,y;yhtpl;lhNyh> Nkw;ghh;itahshplk; Kiwapl;L rupahd 
Nfs;tpj;jhisg; ngw;Wf; nfhs;SkhW mwpTWj;jg;gLfpwJ. 

12. All the questions are bilinguial except language questions (English & Tamil) 
ghlg;gFjp (Mq;fpyk; kw;Wk; jkpo;) Nfs;tpfis jtph;j;J midj;J Nfs;tpfSk; ,uz;Lk; nkhopfspYk; nfhLf;fg;gl;Ls;sd. 
 

 

 

 

tpdhj;jhspd; tupir vz;. tpdhj;jhspd; tif gjpT vz; 

OMR tpilj;jhspd; vz; 
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1. „clk;ghL ,yhjtu; tho;f;if Flq;fUs;‟ vd;w Fwspy; gapd;W tUk; mzp 
A) VfNjr cUtf mzp    B) ctikazp 
C) cUtf mzp      D) Ntw;Wikazp 
 

2. Where is the strongest muscle of the human body located? 

A) Jaw   B) Nose   C) Ear    D) Neck 

kdpj clypy; tYthd jir vq;F cs;sJ? 
A) jhil   B) %f;F   C) fhJ   D) fOj;J 
 

3. „mQ;Qhd;W vy;yp vo ehdhopg; Nghjpd; tha; Moptuk; gidj;Nj fhNyw;Wf; fhNyhl;lg; Gf;Fop‟ -  
vd;W ePjpgjpaplk; jkpopy; rhl;rpak; nrhy;yp jd; nkhopj;jpwd; Gyikia ntspg;gLj;jpa jkpowpQh;. 
A) kPdhl;rp Re;judhu;     B) c.Nt. rhkpehju;  
C) MWKf ehtyu;     D) NrhkRe;ju ghujpahu;  
 

4. Which is called Indian saltpetre? 

A) Sodium nitrate  B) Ammonium nitrate  C) Sodium Chloride  D) Potassium nitrate 

vJ ,e;jpa ntbAg;G vd miof;fg;gLfpwJ? 
A) Nrhbak; iel;Nul;     B) mk;Nkhdpak; iel;Nul; 
C) Nrhbak; FNshiuL     D) nghl;lhrpak; iel;Nul; 
 

5. Which organic functional group forms the peptide bond of protein?  

A) Ether   B) Ester    C) Acetal   D) Amide 

Gujj;jpy; cs;s ngg;ilL gpizg;gpid cUthf;Fk; fhpk tpidj; njhFjp vJ? 
A) <jh;   B) v];lh;   C) mrpl;lhy;   D) mikL 
 

6. Which is used for producing smoke screen? 

A) Phosphorous oxide     B) Phosphine 

C) Phosphoric acid     D) Phosphorous chloride 

Gifj;jpiuia cUthf;f gad;gLk; Ntjpg;nghUs;? 
A) gh];gu]; Mf;irL     B) gh];gPd; 
C) gh];ghhpf; mkpyk;     D) gh];gu]; FNshiuL 
  

7. Which one is known as fifth state of matter? 

A) Solid       B) Bose – Einstein condensate 

C) Plasma       D) Gas. 

gUg;nghUspd; Ie;jhtJ epiy vd mwpag;gLtJ? 
A) jpz;kk;      B) Ngh]; - Id;];Bd; fz;ld;];Nll; 
C) gpsh];kh      D) thA 
 

8.  25  25  25
4

… . . .
4

 
4

 ∞ _______ 

A) 5
1

3   B) 25
1

3    C) 5
1

2    D) 25
1

2 

PART ‘A’ : General Knowledge 
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9. The value of  
1+cos 𝜃

1−cos 𝜃
 is _____ 

 
1+cos 𝜃

1−cos 𝜃
 apd; kjpg;G _______ 

A) 𝑐𝑜𝑠𝑒𝑐 𝜃 + cot 𝜃 B) 𝑐𝑜𝑠𝑒𝑐 𝜃 − cot 𝜃  C) sec 𝜃 + tan 𝜃  D) sec 𝜃 − tan 𝜃 

 

10. The chairperson of National Disaster management authority is 

A) The president   B) Prime minister  C) Defense minister   D) Home Minister 

Njrpa Nguplu; Nkyhz;ik Mizaj;jpd; jiytu; 
A) FbauRj;jiytH     B) gpujkH     
C) ghJfhg;Gj;Jiw mikr;rH    D) cs;Jiw mikr;rH 
 

11. The most populous density state of India is  

A) Uttar Pradesh  B) Maharashtra  C) West Bengal  D) Bihar 

mjpf kf;fs; njhif mlh;j;jp nfhz;l ,e;jpa khepyk; vJ? 
A) cj;jpugpuNjrk; B) kfhuh\;buh  C) Nkw;F tq;fhsk;  D) gPfhH 
    

12. “Adventure” 

A) 4 syllable  B) 5 syllable   C) 6  syllable   D) 3 syllable 

 

13. _______ several warnings, he continues to swim. 

A) due to   B) in spite of    C) because of  D) according to 

 

14. nghUj;Jf. 
1) Ngupaho;  - (a) 16 euk;Gfs; 
2) kfuaho;  - (b) 7 euk;Gfs; 
3) rNfhlaho;  - (c) 21 euk;Gfs; 
4) nrq;Nfhl;baho; - (d) 17 euk;Gfs; 
A) 1(d) 2(c) 3(a) 4(b)     B) 1(b) 2(d) 3(c) 4(a)  

C) 1(a) 2(c) 3(d) 4(b)     D) 1(c) 2(d) 3(a) 4(b) 

    
15. If both the office of President and vice President Vacant, Who has been empowered the President 

Function? 

A) Prime Minister      B) Speaker of Lok sabha   

C) Chief Justice of India     D) Chief of Army Staff 

FbauRj; jiytu; (k) FbauRj; Jizj; jiytu; ,y;yhj NghJ FbauRj; jiytuhf 
nray;gLgtu; ahu;? 
A) gpujkH        B) kf;fsit rghehafH 
C) ,e;jpa jiyik ePjpgjp    D) ,uhZt jiyik mYtyH 
    

16. The slave Dynasty was founded by 

A) Qutb-ud-din Aibak B) Iltutmish   C) Raziya sultana  D) Balban 

mbik tk;rj;ijj; Njhw;Wtpj;jth;. 
A) Fj;GjPd; Ingf; B) ,y;Jkp\;   C) u]pah Ry;jhdh  D) ghy;gd; 
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17. Mushroom rock is formed by the action of 

A) River       B) Wind    

C) Glacier       D) Underground water 

fhshd; ghiw vjd; nray;ghl;lhy; cUthf;fg;gLfpwJ? 
A) ejpfs;   B) fhw;W   C) gdpg;ghiw  D) epyj;jb ePH 
 

18. Dimensional formula for planks constant. 

gpshq;f; khwpypapd; ghpkhz tha;g;ghL? 
A) ML2T-1   B) ML2T-3   C) MLT-1   D) ML3T-3 

   

19. Sound cannot travel through vaccum proved by? 

A) Newton  B) Franklin   C) Robert Boyle  D) Einstein 

Xyp ntw;wplj;jpd; topNa guthJ vd epWgpj;jth;? 
A) epA+l;ld;  B) gpuhq;fpspd;  C) uhgh;l; ghapy;  D) Id;];Bd; 

  

20. Which is formed during anaerobic Respiration? 

A) Carbohydrates  B) Ethyl alcohol  C) Acetyl CoA  D) Pyruvate  

fhw;wpy;yh Rthrj;jpd; %yk; cUthtJ? 
A) fhh;Nghi`l;Nul; B) vj;jpy; My;f`hy; C) mrpily; CoA  D) igUNtl; 
   

21. Kreb‟s cycle takes place in? 

A) Chloroplast   B) Mitochondrial Matrix C) Stomata   D) None  

fpug; Row;r;rp vq;F eilngWfpwJ? 
A) gRq;fzpfk;      B) ikl;Nlhfhz;l;hpahtpd; cl;gFjp 
C) Gwj;Njhy; Jis     D) VJkpy;iy 
  

22. An isotope is used in many industries as smoke detector? 

A) Radio Nickel      B) Radio carbon   

C) Radio californium      D) Radio Americium  

gy;NtW njhopw;rhiyfspy; Gifia caUk; fz;Lzh;tpahf gad;gLk; INrhNlhg;G? 
A) NubNah epf;fy;     B) NubNah fhh;gd;  
C) NubNah fypNghh;dpak;    D) NubNah mku;rpak; 
 

23. The Number of integers which are divisible by 11 in between 300 to 500. 

300f;Fk; 500f;Fk; ,ilNaAs;s 11My; tFgLk; vz;fs; vj;jid _______ 

A) 1   B) 15    C) 18    D) 21 

 

24. If 𝑥 > 0, 𝑦 < 0 is lies in _______ quadrant  

𝑥 > 0, 𝑦 < 0 vd;gJ ve;j fhy;khdg;gFjpapy; mikAk; _______ 
A) I   B) III    C) IV    D) II 

 

25. The sun‟s surface temperature is about 

#upaDila Nkw;gug;G ntg;gepiy Vwf;Fiwa ………….. Mf cs;sJ. 
A) 5,500°𝐶   B) 15,600°𝐶   C) 5,500K   D) 5,500°𝐹 
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26. The Mansabdari system was introduced by 

A) Babur   B) Humayun   C) Akbar   D) Shersha 

kd;rg;jhhp Kiwia mwpKfg;gLj;jpath;. 
A) ghgh;   B) `pkhA+d;   C) mf;gh;   D) n\h;\h 

  

27. Who renounced the Knighthood title in protest of Jallian walla Bagh Massacre?  

A) Gandhiji      B) Ravindranath Tagore 

C) S. Subramaniyam      D) Sathyapal 

[hypad; thyhghf; gLnfhiyiaf; fz;bj;J iel;cl; gl;lj;ijj; Jwe;jth;. 
A) fhe;jpabfs;      B) utpe;jpuehj; jh$h; 
C) S. Rg;gpukzpak;     D) rj;aghy; 
 

28. The people well known for „Khuntkatti‟ land system were 

A) Indian peasants     B) Munda farmers  

C) Bardoli peasants     D) Mophla formers  

„Fz;l;fl;b‟ Kiwapy; tptrhak; nra;tjpy; Gfo;ngw;wth;fs;. 
A) ,z;bNfh tptrhapfs;    B) Kz;lh tptrhapfs; 
C) gh;Njhyp tptrhapfs;     D) khg;sh tptrhapfs; 

   

29. The District in which Adichanallur is 

A) Thothukudi  B) Tirunelveli   C) Vellore   D) Theni 

Mjpr;rey;Y}h; mike;Js;s khtl;lk;. 
A) J}j;Jf;Fb  B) jpUney;Ntyp  C) NtY}h;   D) Njdp 
 

30. The book „Madura Vijayam‟ was composed by 

A) Krishnadevaraya      B) Bukka    

C) Ganga Devi      D) Allasani peddana 

„kJuh tp[ak;‟ vd;w Gj;jfj;ij vOjpath; 
A) fpU\;zNjtuhah;     B) Gf;fh;    
C) fq;fh Njtp      D) my;yrhdp ngj;jz;zh 

 

31. Metals known to Rig vedic people 

1. Gold   2. Iron   3. Copper 

A) 1 only   B) 2 only   C) 3 only   D) 1, 2, 3 

hpf;Ntjfhy kf;fs; mwpe;jpUe;j cNyhfq;fs;; 
1. jq;fk;   2. ,Uk;G  3. jhkpuk; 
A) 1 kl;Lk;  B) 2 kl;Lk;   C) 3 kl;Lk;   D) 1> 2> 3 

 
32. Who was the first president of Indian National congress? 

A) A.O. Hume  B) W.C. Banerjee  C) Tilak   D) Annie Besant 

,e;jpa Njrpa fhq;fpu]pd; Kjy; jiyth;. 
A)  A.O. `pA+k;  B) W.C. ghdh;[p  C) jpyfh;   D) md;dp ngrd;l; 
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33. Later Cholas kingdom was established by 

A) Vijayalaya  B) Karikala   C) Rajaraja – I  D) Rajendira – II 

gpw;fhy Nrhog; Nguuirj; Njhw;Wtpj;jth; 
A) tp[ahyad;      B) fhpfhyd;   
C) Kjyhk; uh[uh[d;     D) Kjyhk; uhN[e;jpud; 
 

34. Choose the correctly matched one  

A) Indian Association   - Sathish Chandra 

B) Servants of India society - Sathyamorthi 

C) Indian Liberal Federation - S.N. Bannerjee 

D) Indian Republican Army - Subash Chandra Bose  

rhpahd ,iziaj; Njh;e;njLf;fTk;. 
A) ,e;jpa rq;fk;   - rjP\; re;jpuh 
B) ,e;jpa gzpahsh; rq;fk;  - rj;jpa%h;j;jp 
C) ,e;jpa jhuhska $l;likg;G - S.N. ghdh;[p 
D) ,e;jpa FbauR ,uhZtk;  - Rgh\; re;jpu Ngh]; 
 

35. In the total land area, the minimum forest cover, required to maintain the ecological balance is 

rkepiy guhkupf;f Njitahd fhLfspd; Fiwe;jgl;r gug;gsthdJ 
A) 25%   B) 50%   C) 40%   D) 33% 

 

36. NITI Aayog,. By the year 2030 targets to eradicate …………. For all people every where in India. 

A) Populaiton growth     B) Poverty  

C) Water scarcity      D) Food insecurity 

‘epjp MNahf;’ vd;w mikg;gpd; $w;Wg;gb ,e;jpahtpy; cs;s midj;J kf;fspd;……….ia 2030–k; 
Mz;bw;Fs; Nghf;Ftjhf; Fwpf;Nfhs; nfhz;Ls;sJ. 
A)  kf;fs; njhif tsu;r;rp    B) tWik 
C) ePu; gw;whf;Fiw     D) czT ghJfhg;gpd;ik 

 
37. The major objective of Pradhan Mantri Krishi Sinzhayee Yojana (PMKSY) is to achieve 

A) Convergence of investments in irrigation at the field level 

B) Agricultural credit available to farmers  

C) Crop Insurance 

D) Crop Improvement 

gpujk ke;jpup fpup]; rpd;rhap jpl;lk; (PMSKY) d; Nehf;fk; vij mila Ntz;Lk;? 
A)  ghrd trjp tay;ntsp tiu mila ed;W jpul;ba KjyPL 
B) midj;J tptrhapfSf;Fk; tptrha fld; 
C) gapu; fhg;gPL 
D) gapu; tsu;r;rp 

 
38. Black soil is formed due to the weathering of  

A) Igneous rocks  B) Metamorphic rocks  C) Sedimentary rocks  D) crystalline rocks 

fupry; kz; ve;jg; ghiwapd; thdpiyr; rpijtpdhy; cUthfpd;wJ? 
A) jPg;ghiwfs;  B) cUkhwpa ghiwfs; C) gbTg; ghiwfs;  D) gbfg; ghiwfs; 
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39. The maximum Strength of the Rajya Sabha is __________? 

khepyq;fsitapd; mjpfgl;r cWg;gpdh;fspd; vz;zpf;if vd;d? 
A) 250   B) 245    C) 552    D) 543 

 
40. Who is the commander - in - Chief of the defence forces? 

A) The Defence Minister     B) The Prime Minister 

C) The President      D) The External Minister 

ghJfhg;Gg; gilfspd; jiyikj; jsgjp ahu;? 
A) ghJfhg;Gj;Jiw mikr;rH    B) gpujkH 
C) FbauRj;jiytH     D) ntspAwT mikr;rH 
 

41. Which Article empowers the High Courts to issue writs? 

cah;ePjp kd;wj;jpw;F Nguhizfis gpwg;gpf;Fk; mjpfhuk; mspf;Fk; tpjp vd;d? 
A) 32   B) 226    C) 222    D) 124 

 
42. Who is the Chairman of Rajya Sabha? 

A) Chief Justice of India     B) President 

C) Attorney General     D) Vice - President 

,uh[;a rghtpd; jiytu; ahu;? 
A) ,e;jpa jiyik ePjpgjp    B) FbauRj;jiytH 
C) jiyik tof;fwpQH     D) FbauRj; Jizj;jiytH 
 

43. Total number of Schedules in Indian Constitution? 

,e;jpa murpayikg;gpd; cs;s ml;ltizapd; vz;zpf;if? 
A) 12   B) 8    C) 24    D) 22 

 

44. rupahd ,iziaf; fhz;. (t.Rg. khzpf;fk;) 
1) t.Rg. khzpf;fk; mtu;fspd; gilg;Gfs; - jkpo;f;fhjy;> ts;Stk;> fk;gu;> rq;fnewp. 
2) jkpof murpd; „jpUts;Stu; tpUJ‟ ngw;wtu; - t.Rg. khzpf;fk;. 
3) „jkpo; topf; fy;tp ,af;fk;‟ vd;w mikg;ig epWtp jkpo;r;Rw;Wyh Nkw;nfhz;ltu; -  

t.Rg. khzpf;fk;. 
4) t.Rg. khzpf;fdhupd; gilg;Gfs; ehl;Lilikahf;fg;gl;l Mz;L – 2010 
A) 1>2 kw;Wk; 3  B) 1>3 kw;Wk; 4  C) 1>2 kw;Wk; 4  D) midj;Jk; rup 
 

45. Which State first adopted the Panchayat Raj in India in 1959? 

1959 Mk; Mz;L ,e;jpahtpy; Kjd; Kjypy; gQ;rhaj;uh[; Vw;gLj;jpa Kjy; khepyk; vJ? 
A) Tamil Nadu  B) Karnataka   C) Gujarat   D) Rajasthan 

 

46. We must _____ all children (Correct verb) 

A) educate  B) to educate   C) educating   D) educates 

  

47.  The perimeter of quadvicircle if the radius 14cm ______ 

14 nr.kP Muk; nfhz;l fhy;tl;lj;jpd; Rw;wsT ______ 
A) 50 cm   B) 72 cm   C) 88 cm   D) 196 cm 
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48.   2𝑥2 + 3  𝑑𝑥
4

1
  ______ 

A) 51   B) 3/2    C) 75    D) 88 

 

49. Nitrous  oxide known as laughing gas is used for _____ ? 

A) Instant horse power B) Propellant   C) Anesthetic   D) Antiseptic  

rphpg;G thA vdg;gLk; iel;u]; Mf;irbd; gad;ghL ……….. ? 
A) cldb jpud;  B) ce;J nghUshf  C) kaf;f kUe;J  D) fpUkp ehrpdp 
 

50. Which of the following is not a scalar? 

A) Viscosity  B) Surface Tension  C) Pressure   D) Stress 

fPo;f;fz;ltw;Ws; vJ ];Nfyhh; my;y? 
A) ghFepiy  B) gug;G ,Otpir  C) mOj;jk;   D) jifT 

    

51. Which is the leading state in mulberry sericulture? 

A) Karnataka  B) Tamilnadu   C) Kashmir   D) West Bengal 

ve;j khepyk; ky;ngup gl;LGO tsh;g;gpy; Kjyplk; cs;sJ? 
A) fh;ehlfk;  B) jkpo;ehL   C) fh\;kPu;   D) Nkw;F tq;fhsk; 

 

52. The lead Bank Scheme was introduced in the year 

Kd;Ndhb tq;fp jpl;lk; njhlq;fg;gl;l Mz;L? 
A) 1988   B) 1990   C) 1999   D) 1969 

 

53. In which year the National Development Council (NDC) was set up? 

A) 1950   B) 1952   C) 1953    D) 1955 

Njrpa Nkk;ghl;L fofk; epWtg;gl;l Mz;L vJ? 
A)  1950   B) 1952   C) 1953   D) 1955; 

 
54. Which of the following is not an objective of India‟s Economics planning? 

A) Population growth     B) Industrial growth   

C) Self – reliance      D) Employment generation 

gpd;tUtdtw;wpy; vJ ,e;jpahtpd; nghUshjhu jpl;lkpLjypy; Nehf;fk; my;y? 
A)  kf;fs; njhif tsu;r;rp    B) njhopy; tsu;r;rp 
C) jd;epiwT      D) Ntiytha;g;ig Vw;gLj;Jjy; 

 
55. The cause of hardness of water is due to  

A) Ca, Mg   B) Ca, Mn.   C) Mn, Mg   D) Fe, Mn 

ePhpd; fbdj;jd;ikf;F fhuzk; vJ? 

A) fhy;rpak;> nkf;dPrpak;    B) fhy;rpak;> Nkq;fdPR 

C) Nkq;fdPR> nkf;dPrpak;    D) ,Uk;G> Nkq;fdPR. 
 

56. Acid rain is caused by which gas? 

mkpy kiof;F fhuzkhd thA vJ? 
A) NO2, SO2  B) NO2, CO2   C) SO2, CO2   D) CO, CO2 
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57. When a cycle tyre suddenly bursts, the air inside the tyre expands.  This process is? 

A) Isothermal  B) Adiabatic   C) Isobaric   D) Isochoric  

irf;fpy; lah; jpBnud;W ntbj;J mjpy; cs;s fhw;W tphptilfpwJ. ,jw;F ------------ epfo;T vd;W 
ngah;? 
A) ntg;gepiy khwh     B) ntg;gghpkhw;wkpy;yh 
C) mOj;jk; khwh     D) gUkd; khwh 
 

58. Which polyphenolic  compound is found in soyabean?  

A) Androgen  B) Phyto estrogen  C) Lysine    D) Valine 

NrhahgPdpy; fhzg;gLk; ghypgpdhypf; $l;Lg;nghUs; vJ? 
A) Md;l;Nuh[d;  B) igl;Nlh <];l;Nuh[d; C) iyrpd;    D) thypd; 
 

59. Structural unit of a gene is called as? 

A) Recon   B) Muton   C) Cistron   D) Codon. 

[Pdpd; mikg;G myF vd;gJ? 
A) hPf;fhd;   B) kpA+l;lhd;   C) rp];l;uhd;   D) Nfhlhd; 
   

60.  The ecology of individual organism or species is called? 

A) Syne ecology      B) Habitual ecology   

C) Auto ecology      D) Population ecology  

#o;epiyapaypy; jdp caphpdk; my;yJ njhFg;G caphpdk; vt;thW miof;fg;gLk;? 
A) irdp #o;epiyapay;    B) NfgpNll; #o;epiyapay; 
C) Ml;Nlh #o;epiyapay;    D) ghGNy\d; #o;epiyapay; 
  

61. 1996 -,y; jkpo;ehL murpd; Kjy; guprpidg; ngw;w m. Kj;Jypq;fj;jpd; rpWfijj; njhFg;G 
A) tk;r tpUj;jp      B) mf;fh   
C) jpfl rf;fuk;      D) kfhuh[htpd; uapy; tz;b 
 

62. If 300% of Number is 120 then 60% of that number is _________ 

xU vz;zpd; 300% MdJ 120 vdpy; me;j vz;zpd; 60% vd;gJ _________ 
 A) 12   B) 24    C) 36    D) 48 

 

63. The probability of number which is divisible by 3 (or) 4 in between   1,2,3, … 20   
 1,2,3, … 20  vd;w fzj;jpypUe;J xU vz; Nju;e;njLf;fg;gLfpwJ. me;j vz; 3 my;yJ 4 My; 
tFgLtjw;fhd epfo;jfT  
A) 2/3   B) 1/8    C) ½    D) 3/2 
 

64. jtwhfg; nghUe;jpAs;sijf; fhz;. (Iq;FE}W) 
A) Ky;iyj; jpiz - Ngadhu; 
B) nea;jy; jpiz - mk;%tdhu; 
C) kUjj; jpiz - ,sehfdhu; 
D) ghiyj; jpiz - Xjyhe;ijahu; 
 

65. Raj is playing ______ piano now 

A) the   B) a    C) an    D) No article  
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66. Mycobacterium tuberculosis is a __________ micro organism? 

A) Viral   B) Fungal   C) Algal   D) Bacterial 

ikf;Nfhghf;Bhpak; ba+gh;FNshrp]; vd;gJ ………… Ez;Zaphp MFk;? 
A) itu];  B) g+Q;ir   C) ghrp   D) ghf;Bhpah 
 

67. If we played well, we _____ (win) the match 

A) will win   B) would win   C) would be   D) would have win 

  

68. The pretence of abnormal amount of sugar in urine raftered as?  

A) Polyuria  B) Nocturia   C) Glycosuria  D) Hyperglycemia  

rpWePufj;jpy; mjpfkhd msT ru;f;fiu fhzg;gLtJ? 
A) ghypa+hpah      B) ehf;ba+hpah   
C) fpisf;Nfh];a+upah     D) i`gh;fpisrPkpah 
 

69. Robert Gallo discovered HIV which causes AIDS in year? 

,uhgh;l; NfNyh va;l;i] cUthf;Fk; HIV itui] fz;Lgpbj;j Mz;L? 
A) 1994   B) 1984   C) 1988   D) 1985 

 

70. The Extra cellular fluid of blood is? 

,uj;jj;jpy; cs;s nry;ntspj; jputk;? 
A) RBC   B) WBC   C) Plasma / gpsh];kh D) Lymph / ypk;g; 
 

71. The government of India‟s expenditure is classified as follows 

A) Plan and non-plan expenditure    

B) Developmental outlays and investment outlays 

C) Defence expenditure and internal expenditure 

D) Consumption and capital expenditure 

fPo;fz;lthW ,e;jpa murhq;fj;jpd; nrytpdq;fs; tFf;fg;gLfpd;wd. 
A) jpl;lk; kw;Wk; jpl;lkpy;yh nryT   B) tsu;r;rp kw;Wk; KjyPl;L nryT 
C) ghJfhg;G kw;Wk; cs;ehl;L nryT   D) Efu;T kw;Wk; %yjd nryT 

 
72. Which one of the following comes under fiscal policy? 

A) Bank rate policy     B) Public Expenditure   

C) Open Market Operation     D) Variable Cash reserve ratio 

gpd;tUtdtw;Ws; vJ epjpf; nfhs;ifapd; fPo; tUk;? 
A) tq;fp tPjk;      B) murpd; nryT 
C) ntsp mq;fhb eltbf;if    D) khWk; nuhf;f ,Ug;G tPjk; 

 
73. What is physical and mental dependence on drug called?  

A) Neurosis  B) Addiction    C) Sedation   D) Indication  

cly; uPjpahfTk; kduPjpahfTk; kUe;JfSf;F mbikahFk; gof;fk; ……….. vdg;gLk;. 
A) epANuhrp];  B) mbf;rd;   C) kaf;fk; / nrlNlTd; D) ,d;bNfrd; 
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74.  American word of “Dustbin”  

A) piticher  B) crib    C) trash can   D) burn 

 

75. Prefix to the word „active‟  

A) hyper   B) ultra   C) sub    D) trans 

 

76. nghUj;Jf. 
1) epiy epWj;jy;  - (a) Nrh. ju;kd; 
2) Re;ju fhz;lk;  - (b) fp. uh[ehuhazd; 
3) <uk;   - (c) rj;a [pj; Nu 
4) gNju; ghQ;rhyp - (d) n[afhe;jd;. 
A) 1(d) 2(c) 3(a) 4(b)     B) 1(c) 2(b) 3(d) 4(a) 

C) 1(a) 2(b) 3(d) 4(c)     D) 1(b) 2(d) 3(a) 4(c) 

 
77. Newton‟s first law of motion gives the concept of ? 

A) Energy   B) Work   B) Momentum  D) Inertia 

epA+l;ldpd; Kjy; ,af;f tpjp vjDld; njhlh;GilaJ? 
A) Mw;wy;   B) Ntiy   C) ce;jk;   D) epiykk; 
 

78. Which is not the source of income for Government of India? 

A) Excise duty  B) interest   C) Income tax  D) Land revenue 

gpd;tUtdtw;Ws; vJ ,e;jpa murpd; tUtha; my;y? 
A) fyhy;tup  B) tl;b   C) tUkhdtup   D) epytup 

 
79. Which tax is collected by Panchayatas? 

A) Sales tax  B) Custom tax  C) Cattle tax   D) Income tax 

gQ;rhaj;jhy; t#ypf;fg;gLk; tup vJ? 
A) tpw;gid tup  B) Rq;ftup   C) fhy;eil tup  D) tUkhd tup 

 

80. The disease sickle – cell anaemia is caused by 

A) Iron deficiency B) Malarial infection  C) Poor hygiene  D) Genes 

rpf;fps; nry; mdPkpah vDk; ,uj;j Nrhif Neha; Vw;gl fhuzk;? 
A) ,Uk;Grj;J FiwghL    B) kNyhpah fha;r;ry; 
C) Rfhjhu NfL      D) [Pd;fs; 
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 Select the Related Number / word / letter? 

rupahd ,iziaf; fhz;f. 
 

81. Ramanujan : Mathematician : : Sushruta : ? 

A) Scientist  B) Architect   C) Physician  D) Astronomer 

,uhkD[k; : fzpjtpayhsu; : : R];Uju; : ? 
A) tpQ;Qhdp  B) fl;blfiyQu;  C) kUj;Jtu;   D) thdpapayhsu; 
 

82. Democracy  :  India : : Communism : ? 

A) France   B) China   C) Britain   D) America 

[dehafk; : ,e;jpah : fk;a+dprk; : ? 
A) gpuhd;];  B) rPdh   C) gpupl;ld;   D) mnkupf;fh 
 

 Find the odd one  / jtwhd xd;iw Nju;f? 
83. A) LFZ   B) PJC   C) SMG   D) XRL 

 

84. A) 89   B) 56    C) 50    D) 62 

 

85. If BULLET is coded as 18, then POLICE is coded as? 

BULLET  vd;gij 18 vd;W vOjpdhy;> POLICE vd;gij vt;thW vOJtu;? 
A) 60   B) 30    C) 15    D) 12 

 

86. If RUSH is coded as 66, then GIRL is coded as? 

RUSH  vd;gij 66 vd;W vOjpdhy;> GIRL vd;gij vt;thW vOJtu;? 
A) 46   B) 47    C) 64    D) 75 

 

87. If J is coded as 20, then BAT coded as 46, then CRICKET is coded as? 

J  vd;gij 20 vd;Wk;> BAT vd;gij 46, vd;W vOjpdhy;> CRICKET vd;gij vt;thW vOJtu;? 
A) 138   B) 158    C) 142   D) 140 

 

 Find the missing Number in series? 

tpLgl;l vz;iz fhz;f? 
 

88. 0, 4, 18, 48, ?, 180 

A) 100   B) 84    C) 78    D) 96 

 

89. 121, ?, 169, 196, 225 

A) 132   B) 136    C) 151   D) 144 

 

90. 2, 8, 18, 32, 50, ? 

A) 72   B) 100    C) 98    D) 96 

PART ‘B’ : Psychology 
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91. 3, 8, 25, 74, ? 

A) 223   B) 225    C) 218   D) 230 

 

 Find the missing letter in series 

tpLgl;l vOj;ijf; fhz;f. 
 

92. 5, Z, 4, Q, 3, ? 

A) P   B) J    B) K    D) G 

 

93. AN, EQ, IT, MW, ? 

A) QZ   B) KX    C) IV    D) ZM 

 

 Arrange the following words according to English dictionary 

gpd;tUk; thu;j;ijfis Mq;fpy mfuhjpapy; cs;sij Nghy; tupirg;gLj;jTk;. 
94. 1) Follicle    2) Folk    3) Follow 4) Foliage 

A) 4,2,1,3   B) 3,4,2,1   C) 4,3,1,2   D) 2,4,3,1 

 

95. In a month having 31 days. 19th day is Thursday means what will be the date on 3rd Friday? 

31 ehl;fs; nfhz;l khjj;jpy; 19-k; ehs; tpahod; vdpy;> 3-tJ nts;spf;fpoik vd;d Njjp? 
A) 21   B 18    C) 20    D) 19 

 

96. + ⇒ ÷, ÷⇒ ×, × ⇒  −, − ⇒  +, 

A) 18 ÷ 6 – 7 + 5 ×2 = 20    B) 18 + 6 ÷ 7 × 5 − 2 = 18 

C) 18 × 6 + 7 ÷ 5 − 2 = 16    D) 18 ÷ 6 × 7 + 5 − 2 = 22 

 

97. ÷ ⇒  +, × ⇒  −,  15 × 9 ÷  12 × 4 ×  4 ÷ 4 =  

A) 96   B) 6    C) 3/128   D) 143/4 

 

98. If you count 21st  letter in the English alphabet from the end and 20th letter from the beginning, 

which letter will exactly appear in the middle of the sequence thus formed? 

Mq;fpy mfutupirapy; gpd;dpUe;J 21-tJ vOj;Jf;Fk;> Kd;dpUe;J 20-tJ vOj;Jf;Fk; rupahf 
,ilapy; cs;s vOj;J vd;d? 
A) N   B) L    C) K    D) M 

 

99.  In a class of 90, where girls are twice that of boys, Ram ranked 14th from the top, If there are 10 

girls ahead of Ram, how many boys are after him in rank? 

90 Ngu; nfhz;l tFg;gpy;> khztu;fis tpl khztpfs; ,Uklq;F ,Ug;gu;> mjpy; uhk; vd;gtu; 
NkypUe;J 14-Mk; ,lk; ngw;Ws;shd;. uhkpw;F Kd; 10 Ngu; khztpfs; cs;sdu; vdpy;> uhkpw;F gpd; 
vj;jid khztu;fs; cs;sdu;. 
A) 23   B) 26    C) 25    D) 22 
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 Choose venn diagram that relates three things. 
3-Ak; njhlu;G gLj;Jk; ntz;glj;ij Nju;f. 
 

100. Doctors, Hospital, Lawyer 

kUj;Jtu;> kUj;Jtkid> tf;fPy; 

A)   B)    C)    D)  

 

101. Tennis, cricket, volleyball 

nld;dp];> fpupf;nfl;> ifge;J 

A)   B)    C)    D)  

 

 Which one will replace the question mark ? 

Nfs;tp FwpaPl;l ,lj;jpy; tuNtz;baJ vd;d? 
 

102.  

 
A) 35   B) 36    C) 37    D) 38 

 

103.   

1 7 2 

8 6 4 

9 2 5 

4 7 ? 

A) 9   B) 10    C) 11    D) 12 

 

104. A boy rode his bicycle Northward, then turned left and rode 1 km and again turned left and rode 2 km. He 
found himself 1 km west of his starting point. How far did he ride northward initially?  

xU khztd; tlf;F Nehf;fp irf;fpspy; nry;fpwhd; gpd; ,lg;gf;fk; jpUk;gp 1km nry;fpwhd;> gpd; 
kPz;Lk; ,lg;gf;fk; jpUk;gp 2km nry;fpwhd;. ,Wjpapy; mtd; Muk;g Gs;spf;F Nkw;F jpirapy; 1km 
njhiytpy; cs;shd; vdpy; Kjypy; tlf;F Nehf;fp vj;jid km nrd;wpUg;ghd;? 
A) 1 km   B) 2 km   C) 3 km   D) 5 km 

 

105. Simplify / RUf;Ff: 
0.728 ×0.728−0.272 ×0.272

0.456
 

A) 0.456   B) 0.9    C) 1    D) 0.272 

 

106. Simplify / RUf;Ff: 
 893+786 2−(893−786)2

893 ×786
 

A) 4   B) 2    C) 5    D) 6 
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107. P is the father of Q and the grandfather of R, who is the brother of S. S‟s mother, T is married to 

V. T is the sister of Q. How is V related to P? 

A) Nephew  B) Brother-in-law  C) Son   D) Son-in-law 

P vd;gtu; Q-d; je;ij kw;Wk; R-d; jhj;jh Mthu;. R vd;gtu; S-d; rNfhjud;> S-d; jha; T vd;gtu; 
V cld; jpUkzk; Gupe;Js;shu; - T vd;gtu; Q-d; rNfhjup vdpy; V vd;gtu; P-w;F vd;d cwT? 
A) kfd;Kiw  B) khkh   C) kfd;   D) kUkfd; 
 

108. What is the minimum number of colours required to fill the spaces in the given diagram without any two 
adjacent spaces having the same colour? 
nfhLf;fg;gl;l glj;jpy; mUfUNf xNu tz;zk; mikahjthW tz;zk; jPl;bdhy; vj;jid 
Fiwe;jgl;r tz;zq;fshy; me;j glj;ij tz;zk; jPl;b Kbf;f KbAk;? 

 
A) 6    B) 5    C) 4   D) 3 

 

109. Count the number of triangles and squares in the given figure. 
nfhLf;fg;gl;l glj;jpy; vj;jid Kf;Nfhzq;fs; kw;Wk; rJuq;fs; cs;sd? 

 
A) 36 triangles, 7 squares /  36 Kf;Nfhzk;, 7 rJuk;    
B) 38 triangles, 9 squares / 38 Kf;Nfhzk;, 9 rJuk; 
C) 40 triangles, 7 squares / 40 Kf;Nfhzk;, 7 rJuk;    
D) 42 triangles, 9 squares /  42 Kf;Nfhzk;> 9 rJuk; 
 

110. A man has Rs. 480 in the denominations of one-rupee notes, five-rupee notes and ten-rupee 

notes. The number of notes of each denomination is equal. What is the total number of notes that 

he has ? 

xU kdpjdplk; &gha; 480> xU &ghahfTk;> 5 &ghahfTk;> 10 &ghahfTk; cs;sJ. xt;nthU 
&gha; Nehl;Lk; rkmstpy; cs;sJ vdpy;> mtdplk; cs;s nkhj;j Nehl;Lfs; vj;jid? 
A) 45   B) 60    C) 75    D) 90 

 

111. What is the product of all the numbers in the dial of a telephone ? 

nlypNghd; vz; Row;wpy; cs;s midj;J vz;fspd; ngUf;fw;gyd; fhz;f? 
A) 1,58,480  B) 1,59,450   C) 1,59,480   D) None of these 

 

112. The 30 members of a club decided to play a badminton singles tournament. Every time a 
member loses a game he is out of the tournament. There are no ties. What is the minimum 
number of matches that must be played to determine the winner ? 
xU fpsg;gpy; cs;s 30 egu;fs; ,wFge;J Nghl;bapy; gq;Nfw;fpd;wdu;. Nghl;bapy; xUtu; 
Njhy;tpAw;why; mtu; Ml;lj;ij tpl;L ntspNaw Ntz;Lk;. Nghl;bapy; rkepiy tha;g;G ,y;iy 
vdpy;> ntw;wpahsiu Nju;T nra;a Fiwe;jgl;r vz;zpf;ifayhd Ml;lq;fs; vj;jid? 
A) 15   B) 29    C) 61    D) None of these 
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113. Increase in Blood pressure is a physiological response to 

A) Motivation  B) Emotion   C) Intelligence   D) Personality. 

nuj;j mGj;jk; ______ cly; uPjpahd JyA;fy; 

A) Cf;fj;jpd;  B) czu;tpd;  C) Ez;zwptpd;  D) MSikapd; 

 

114. Self observation is otherwise called as 

A) Introspection  B) Interview   C) Research   D) Experiment 

jd;id jhBd Muha;jy; ____ vd;W Twg;gLfpwJ. 

A) cs;Behf;FKiw B) Beu;fhdy; Kiw  C) Muha;r;rp  D) gupBrhjid 

 

 DIRECTIONS (Q.Nos. 115-119)  

Observe the pie chart given below and answer the questions, 

Budget Estimated by a Family for Their Monthly Expenses 

 
115. What is the budget estimated by the family on clothing and grocery together? 

Jzp kw;Wk; kspiff;F (clothing and grocery) MFk; nryT vd;d? 
A) Rs.8850  B) Rs.8690   C) Rs.8780   D) Rs.8960 

   

116. The family actually paid 4672 on grocery. What is the difference in the amount budgeted and spent on 

grocery? 

FLk;gk; kspiff;F (grocery) 4672-I nryT nra;jhy; mtu;fs; kspiff;F xJf;fpajw;Fk; 
nrytpl;ljw;Fk; cs;s tpj;jpahrk; fhz;f? 
A) Rs.1738   B) Rs.1672   C) Rs.467    D) 1728 

 

117. What is the difference in the amount estimated by the family on electricity bill and cell bill 

njhiyNgrp fl;lzj;jpw;Fk; (Cell bill) kw;Wk; kpd;rhu fl;lzj;jpw;Fk; (Electricity bill) cs;s 
tpj;jpahrk; fhz;f? 
A) Rs.1920   B) Rs.4160   C) Rs.6080    D) Rs.8000 

 

118. Due to marriage, the family incurrs miscellaneous expenditure of 3040 in total. How much is the increase 

in the amount under this head from that of the budgeted? 

jpUkz nrytpd; fhuzkhf ,ju nryTfs; (Miscellaneous expenditure) 3040 Mfp tpLfpwJ. vdpy; 
,ju nryTfspy; vt;tsT &gha; Fwpgpl;lij tpl mjpfk; nryT nra;Js;sdu;? 
A) Rs.1738   B) Rs.304   C) Rs.800    D) Rs. 224 
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119. The angle for the sector on Education was? 

fy;tpapw;fhd (Education) Nfhz msit fhz;f? 
A) 90°   B) 85°    C) 72°    D) 110° 

 

120. 28 students were divided into three groups A,B and C. Group B consists of twice the number of  

students in Group C. Group A has half the number of students in Group C. How many students  

are there in Group C? 

28 khzth;fs; A,B kw;Wk; C vDk; %d;W FOf;fshfg; gphpf;fg;gLfpd;wdh;. FO B. FO C ,y;  
cs;sJ Nghd;W ,U klq;F khzth;fisf; nfhz;lJ. FO A ,y;> FO C ,y; cs;sjpy;  
ghjp vz;zpf;if khzth;fs; cs;sdh;. FO C ,y; cs;s khzth;fs; vj;jid Ngh;? 
A) 4   B) 6    C) 8    D) 14 

 
121. A,B,C,D,E,F and G are sitting on the wall and all are facing east. 

C  is immediate right of D 

B is at extreme end and has E as his neighbourhood 

G is between E and F 

D is sitting third from the south end 

Who is sitting to the right of E ? 

A,B,C,D, E,F kw;Wk; G vy;ByhUk; xU kjpy;Bghy; fpHf;F Behf;fp mku;e;Js;sdu; C, D d; 

gf;fj;jpy; tyJ g[wkhf mku;e;Js;shu;. B tupirapd; Bfhoapy;, E-d; gf;fj;jpy; 

mku;jpUf;fpwhu;.”G” E f;Fk; F-w;Fk; eLtpy; mku;e;Js;sdu;.D bjw;F BfhoapypUe;J 

Kd;whtjhf mku;e;Js;sdu; E –d;’tyJ gf;fj;jpy; ahu; mku;e;Js;sdu;? 

A) A              B) B              C) G             D) C 

 

122. Which of the following pair of people are sitting at the extreme end ? 

gpd;tUk; B$ho kdpju;fspy; ve;j B$ho Bfhoapd; Kotpy; mku;e;Js;sdu;. 

A) AB           B) AE            C) CB           D) FB  

 

123. Between which of the following pairs is D sitting ? 

gpd;tUk; B$ho kdpju;fspy; ve;j B$hoapd; eLtpy; D mku;e;Js;sdu;. 

A)AC             B) AF           C) CE            D) CF 

 

124. A man climbing up a wall of 24 m high. He climbs 16 m in a day but slipped back by 3 m 40 cm in the 

evening. How far had the man reached on that day?  

xU kdpjd; 24kPl;lu; cauKs;s xU Rtw;wpy; VWfpd;whd; mtd; gfypy; 16 kPl;lu; cauk; Vwp gpd; 
,utpy; 3 kPl;lu; 40 nr.kPl;lu; fPopwq;fpdhy;> me;ehspy; mtd; vt;tsT cauk; Vwp ,Ug;ghd;? 
A) 11.4m   B) 12.6 m   C) 12m 40cm  D) 19m 40cm 

 

125. Two horses A and B run at a speed of 3 : 2 ratio in the first lap; during the second lap the ratio differs by 

4:7; during the third lap the ratio differs by 8:9. What is the difference in ratio of speed altogether between 

two horses?  

,uz;L Fjpiufs; A kw;Wk; B Kjy; Rw;wpy; 3:2 vd;w tpfpj Ntfj;jpYk;> ,uz;lhk; Rw;wpy; 4:7 
vd;w tpfpj Ntfj;jpYk;> %d;whk; Rw;wpy; 8:9 vd;w tpfpj Ntfj;jpYk; nry;fpwJ vdpy; nkhj;jj;jpy; 
,uz;L Fjpiufspd; tpfpj Ntfj;jpd; tpj;jpahrk; fhz;f? 
A) 4   B) 1    C) 3    D) 2 
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126. If 47a + 47b = 10904 what is the average of a and b ? 

47a + 47b = 10904 vdpy;  a  & b d; ruhrup fhz;f? 

A) 116   B) 23.5   C) 96    D) 58 

 

127. A medical student has to Secure 40% marks to pass He gets 80 and failed by 60 marks Find the maximum 

marks. 

xU kUj;Jt khztu; 40% vLj;jhy; Bju;r;rpbgwyhk; mtu; 80 kjpg;bgz; vLj;J 60 

kjpg;bgz; tpj;jpahrj;jpy; Bjhy;tp mile;jhu; vdpy;, bkhj;j kjpg;bgz; fhz;f. 

A) 350   B) 450    C) 500    D) 150 

 

128. In a examination 34% failed in maths 42% failed in English. If 20% failed in both Find the percentage of 

students passed in both subjects. 

xU Bju;tpy; 34% khztu;fs; fzpjj;jpYk;, 42% Bgu; MA;fpyj;jpYk;, 20% Bgu; 

nuz;oYk; Bjhy;tp mile;jdu; vdpy;, vj;jid rjtPj khztu;fs; nuz;oYk; Bju;r;rp 

mile;jdu;. 

A) 56   B) 54    C) 50    D) 44 

 

129. A man sold a radio for Rs. 1980 and gained 10 %. the radio was bought for. 

xUtu; xU thbdhypg;bgl;oia U}. 1980-f;F tpw;Fk;BghJ 10% yhgk; milfpwhu; vdpy; mtu; thA;fpa 

tpiy. 

A) Rs. 1782   B) Rs. 2178   C) Rs. 1800   D) Rs. 1000 

 

130. Rs. 1210 was divided among three man A,B,C in the ratio A:B = 5:4, B:C = 9:10, then find 

the share of c. 

U}.1210 I A,B,C vd;w K}tu; A:B = 5:4, B:C = 9:10vd;w tpfpjj;jpy; gpupj;Jf; 

bfhz;ldu; vdpy;, Cd; gA;F ? 

A) 340   B) 400   C) 150   D) 200 

 

131. The average age of 3 boys is 25 year &  their ratio of age is 3:5:7. find the age of the 

youngest boy 

3 rpWtu;fspd; ruhrup taJ 25 mtu;fs; tajpd; tpfpjk; 3:5:7 me;j 

K}tupy; rpwpatupd; taJ fhz;f. 

A) 15   B) 9    C) 18    D) 12 
 

132. The ages of X & Y are in the ratio of 11:13 After 7 years the ratio of their ages will be 20:23 What is the 

difference in years between their ages? 

X & Y –d; taJfspd; tpfpjk; 11:13. 7 tUlA;fSf;F gpd;dh; mth;fspd; taJ tpfpjk; 

20:23 vdpy; mth;fspd; taJfspd; tpj;jpahrk; vd;d? 

A) 4   B) 7    C) 6    D) 5 
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133. The ratio between the ages of Ram & mohan is 4:5 and that between mohan & Anil is 5:6 It sum of the age 

of three be 90 years how old is mohan? 

nuhk; & Bkhfdpd; taJ tpfpjA;fs; 4:5 & Bkhfd; & mdpypd; taJ tpfpjk; 5:6 

nth;fspd; taJfspd; TLjy; 90 tUlA;fs; vdpy; Bkhfdpd; taJ vd;d? 

A) 24   B) 20    C) 30    D) 25 

  

134. A alone can do a piece of work in 8 days and B alone can do the same work in 24 days working together 

they will finish the work in 

A&B  xU Btiyia KiwBa 8&24 ehl;fspy; Kog;ghh;fs;. nUtUk; nize;J bra;jhy; 

Kof;f vt;tst[ ehl;fshFk;. 

A) 4days   B) 6days   C)12day   D)16days 

 

135. 30men can cut 20 trees in 10 hrs. In How many hrs 15 men can cut 5 trees? 

30 kdpjh;fs; 10 kzp Beuk; Btiy bra;J 20 kuA;fis btl;Lfpd;wdh;. vdpy; 15 

kdpjh;fs; 5 kuA;fis vj;jid kzp Beuj;jpy; btl;Lth;. 

A) 3hrs   B)5hrs    C)8hrs    D)7hrs 

 

 Directions (Q. Nos. 136-140) 

Study the following information carefully and answer the questions accordingly. 

Six people bought shoes on three different dates i.e. 4th, 11th, and 20th in two different months i.e. 

April and July of the same year but not necessarily in the same order. Z bought the shoes before 

F. X bought the shoes before V. F bought the shoes on the 20th. O bought the shoes immediately 

after Q in the same month. Three people bought the shoes between F and V. 

fPo;f;fz;l jfty;fisg; gbj;J tpdhf;fSf;Nfw;w tpilaspf;fTk;. 
MW Ngu; Vg;uy; kw;Wk; [Piy khjq;fspy; cs;s 3 Njjpfshd 4> 11 kwWk; 20-e; Njjp fhyzpia 
thq;Ffpd;wdu;. Z vd;gtu; F-w;F Kd;djhf fhyzp thq;Ffpwhu;. X vd;gtu; V-w;F Kd;djhf 
fhyzdp thq;Ffpwhu;. F vd;gtu; 20-e; Njjp fhyzp thq;Ffpwhu;. O vd;gtu; Q-thq;fpa xU 
khjj;jpy; cs;s mLj;j Njjpapy; fhyzpia thq;Ffpwhu;. F kw;Wk; V-apd; ,ilapy; 3 Ngu; 
fhyzp thq;fp cs;sdu;. 

 

136. Who bought the shoes first? 

Kjypy; fhyzp thq;fpatu; ahu;? 
A) X   B) O    C) Z    D) Q 

 

137. Who bought the shoes immediately after V? 

V – w;F mLj;J cldbahf fhyzp thq;fpatu; ahu;? 
A) Q   B) F    C) Z    D) O 

 

138. Who bought the shoes on 11th? 

11-k; Njjp fhyzp thq;fpatu;fs; ahu;? 
A) O, V   B) Q, Z   C) F, V   D) O, X 
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139. Who bought the shoes on 4th July? 

[Piy 4-k; Njjp fhyzp thq;fpatu;fs; ahu;? 
A) V   B) Z    C) Q    D) O 

 

140. Z bought a shoe on which date? 

Z vd;gtu; ve;j jpdj;jpy; fhyzp thq;fpdhu;? 
A) 4   B) 11    C) 15    D) 20 

 

 

 


